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ELEMENT ATOMIC NUMBER AVERAGE ATOMIC PROTONS ELECTRONS
NAME MASS
Hydrogen \ 1.001aY \ \
Boron 5 10.%\\ 5 )
. Nitrogen q. 14.00( ‘1. ":‘_, -
Oxygen % 15.4444 = Z
Neon 10 | 201143 10 10
Why are we unable to predict the number of neutrons for ALL atoms of each element above? (Ex. Why
can't we predict the number of neutrons in every nitrogen atom?) '
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Here are three isotopes of an element:

a
b.
c.
d.

€.
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The number ¢ refers to the

The numbers 12,13, and 14 refer to the NGOG ﬁ = ‘\-l
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. The element js: Cfg( M! _
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How many protons ang neutrons are in the first isotope? .
How many protons and neutrons are in the second isotope? _w P q’ LA

How many protons ang neutrons are in the third isotope?

Complete the following chart:
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Isotope atomic # | mass # # of # of # of Isotopic
name ey o B protons neutrons electrons S;mbol
uranium-235 7%
s 92 | 235 | a7 (W3 | 97 20
uranium-238
12 |27 | 92 | ye | 92 [eq
oron-10
e s 6 | 5 s 5 | g
boron-11 % \ ‘ 6— _ (p .S :;
Fillin the follg;ﬂring chart: | ? N
Element/lon Atomic | Number of | Number of | Number of | Mass Number
Number Protons Neutrons | Electrons
H \ \ @) ) |
H | \ O 2 l
L % 2 1 4 S E,
nCl B 1% | € 1B 25
Mg” 12 \2 | Z lo 2
nAs 33 k) L 33 35
wAg 4t | J1 Wl Yo 0%
ns* [ L | I% 32
Ll ‘e 30 28 66
Zn 30 50
478,_}0{;55 76 Z0 114 H,
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complete the following diagram:

/

y

Scanned with CamScanner

What ha ens t . / a 4 : +
P e oot o gt poom e, or A0 CE
n i oron
worksheet, e word bank to complete this Cuboeli Isotopes
Carbon-13 Nitrogen v
5P ( ] Gl
- Carbon-12 P
[ MOY\ One less P=6 One more N\}‘(oqw
proton
N=6
One less
electron
o One more One more oxi o\-\(_-tj
L&M—b“—'\—\' neutron electron Q
vwon(~ ]

) [ Cowoom 15 ] [ anion(-) Tons
\SotopeS Atoms that have
Atoms with lost or gained

different numbers electrons
of neutrons
Flowchart: Atosis
Atom gains or Atom gains or
loses loses
neutrons glectrons
Creates an |sotope- Creates an jon-
same number of same number of
protons and protons and
electrons, but a neutrons, but
different number of changes the charge
o neutrons and of an atom (positive =
different mass catlon; negative =
number anion)




